Parent’s signehure:

For each question fom 1 16 12, four opions ars given. One of thesn is the comract answer, Meke
your cholee {1, 2, 3 or 4). Shads the correct oval on the Optical Answer Sheet (OAB).

4 mmmmnﬁmm

o

| clouds seas and oocans
st_'{ s v ]JR

Which of the letters, P, O, R, $, represent procosses that wolve a changs of stte?
%; P and B only

{4 RandSonly { )
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The tabla beknw shows the melling point and bolling poinis of sbstances A, B and C.
| Substance mﬁl%omrc} ‘Bolﬂng‘rizglﬂt_!‘ﬂ ‘

<) 8%
15 700

>

fell

Which one of the following ks tnue?

g; Substances A ond C are sohds st 10°0,
Substances B and C are Rguids at 30°C.

{3) Substances B and C aseiiquide 5t 50"C,

(4 Substances A snd C ate goses ot 100°C., 1

A bagker contalning sold substance Z was hestad tntl s boling point 2nd & was left io
oool. The lemperahuwe of substance Z was measured and nepresented in the praph

100 &
] D e
Bn-F
P o
T AD 4
§ e
: ®is i
alLt | d > Thoe (rmin)
2 7 23 33 a7

Which of the following Bnes peprecant the meling point and boling pofnt of substance 2
In tha graphy? :

. meling Bolling

(1) AB DE

1 — =

{4) €D FG__ {

)
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Mrs Poh placed two bowls of soup, bowl X and Y, on the diring teble. The suounding
mm&m;aermmmmmmmum
beiow.

- T

Bosil X Bowi Y
What could the lemperature of the soup in Bowl X and Y be?
BowiX(C) | Bowivee) |
'] 25

1
4 % 0 { )

An exporiment was cartied out fo investigale the effect of exposo sinface area on the
muwuﬁmmmmmmmmmhw«m

experiment a3 shown bolow.
H Contuiner C Corlsler D

Contslner A Corilyie B

ol

AR the condiners wise loft a1 the same place for 12 hours, The emount of water for sach
_container was measwud and repretanied in the bar chart as shown below,

Amovnk0f

mlin.

An exror was made when the resulls wers recorded. Which of the results were racordad
wiongly?

(1) Conlainer A only

% Contsiners 8 and D only _
{(4) Coniainers C and D only [
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8 Me Zainsd wanted 0 obialn pure waler from sep water, He then prepared a selb-up fo
coliect the pure water in the beaker as shown below.

s \‘ beoker
sen weter — oo t:iz—:—:*: bosin

- o R Y e A -

What oould Mr Zainal do io collect the pure water at o faster rate?

P Heat up the sea waler bekore pouring Into the besln,
Q  Cool down the soe water bofore powring Into the basin,
R Addios on the plasic shost.

g; P only
Q only

{3) PadRonly

{#) QuandR only {

T Agmup of eludenis obsesved thiee colis, A, B and G, unider he microscope and
recorded thelv obaervations In the table balow. A tick () indicates that the part was

obeerved i the call.
Coll A -gl ' CelC
7 Y 7
7 7
v 7 v
4 7 7

Basad on whai they hiad obeerved, each of tham clpssifiad the thres pells into two
groups shown below. Which student has ciaasilfiad the colls comectly?

M:a- T Ankmal Colls
B
B.C
AC
4

____El%___

A
B (

_é;

1)

el
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Study the flow chart below.

Does & ghve the ool
Patts of the call | afond shape?

Ooot & contaln
ohlorophyli?

i convel
movement of
substanoes in ond
oot of the colli?

Which parts of the oeif could P, Q@ snd R be?

—

L4 Q

R
17 coll membrane ' nucleus
M_& - ool wall

%___%%__ﬁ mﬁ
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10

Raeju carded out an experiment 88 shown below 1o investigate the condiions npcessary

for seed germination.

Tha tabls below shows the difersnt condiiione in which the sel-upe ware placad.

[ Conthilons | SebupW Bekup X SetupY | SebupZ
__Cotton woo) __dry wet oot wet
Place hear the neax the nihe in the
: windowsil | windowsll | refrioerstor | cupbosrd
In which of the sel-upis) wotdd Raju cbeserve Yhe sesds germinating afier tvo days?
. SebupX .
E’)J wmzw
Set-ups W and Y only
:3 Set-ups W and Z only {

The diagrams below shows the dispersal patiem of the fruta/sseds of thrue different
types of planis, A, Band C.
ﬁo:ﬂﬂl
)
~ ~ o0 1 [S
o 0
x, * B
%% [ °°
FlatA Plant® Poni ©
Which of B following comectly describe the cherecierisiics of the frults/seads of plants
A, BendG?
Piant A B Plant C.
when small Ployflesh |
) amall and lighl __has pod-kesiruchre J{ )
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1 A fruit was cut open as shown.

Same students made the following sistements,

Amink  Tha fruit hee many small seeds 50 K is dispersed by wind.
Bakr: The fruil and soods of this plant ere developed from a flower.
Cathy: The kult hes many seeds bocause the fower contalnad many ovules.

12

Which of the following peris of the humen and plant reproductive systems sharno similar
functions?

{1) YandAonly
Y and B only
Z and B only
(4 ZandConly {
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Seciion B 148 marks]

For questions 13 fo 17, write your answers In this booldet. The nurber of marke avellebla is
shown In the brackets ] ] et the end of each question or part gquestion.

13 mnmmammmofmmmmmmum
a8 shown below. The temperature of the surrounding alr was 3°C. -

white
subsiance R
- {a) Howwas substance R forrned? Explain your answer, 2
{t} Substance R disappeared uickdy. Explain why. : _ m
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Nichelio wantod 1o fid out which clothes dryer could cry hes clothes faster, The cloibes
mmmhmmmmmmmwa.mmm
ﬁWMMmmememmdum

as shown below.

Towsl 1 Mass ol towel | Mass of towel aiter |
before water was mw&;m

X _ _m@ 300

Y _ 200 300

mmmmmmmmma&mm

o —0 — &
Towel X TowslY

DrgacA DiyerB
Michelle meacurad the mass of the (owel over & pariod of ime and the results are shown
below, '
Time (mn) | owel X (g) | Wsss of Towel ¥ (5)
0 200 _
i _ 290
20 210
30 280
40 200 20

"~ {a) Howwould the amount of tms that the towels spead in the dryer, affect ths emount of

waier laft on the towel? [} ]

{b):gadonummmwmmﬁmmAmw. Explaln
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15 Aftypical plant cell is shown below,

. {a) Which past of the coll will ansure that the youny plant will always develop the same
colotir of fowers as the parent plent? Exploin why, k)]

{b} Labal and name the pert of the call where all cell activiios take place, 1

{c) Which peri(s) of the plant can this coll most lkely be found In? Explaln your answer.  [1]
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18 The diagrem below shows how a frult is formad from Flower P.

A
B
c
Flower P
(a) identify and stste the funchion of patA. )

{b)lstmPahbbdevebpihlemhbumE)Mmm. v

{c) MMMdMPmNmbcMWY. il

{d) In humans, a similsr process takes place, Which process X or Y takes placa In
humans? Describa the process. )i
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17 The diagrem below shows 8 process that tekes place in e repraducion of humens,

M

(®) inwhich part P, Q, R oF S, of the femeale raproductive system, wil the baby dewiop?
Nasne this reprcuctive pest,

l ' : End of Paper
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SCHOOL : MGS PRIMARY SCHOOL

LEVEL : PRIMARY5
SUBJECT :  SCIENCE
TERM  : 2020 JULY
{
SECTION A

Q1 Q2 Q3 Q4 | Q5 Q6 Q7 Qs Qe | Q1o

Q11 | Q2
3 3
SECTIONB

Q13) |a)Substance R was formed from tiny water droplet. When Ryan
spoke, warmer water vapour from his mouth escaped. The warmer
water vapour came into contact with and lose heat to the cooler
surrounding air, causing the warmer water vapour fo condense info
tiny water droplets. Hence, substance R was formed.

b)Substance R gained heat from the surrounding air, causing it to
evaporate into the surrounding air . Hence, substance R

disappeared quickly.

Q14) |a)As the amount of time that the towel spend in the dryer increase,
the amount of water left on the towel decreases.

b)After 40 minutes, towel X was completsly dry and had a lower
mass than towel Y. Towel X gained more more heat from Dryer A
causing the water in the towel fo evaporate ata faster rate than the
water in towel Y, indicating that Dryer A was “hotter” than dryer B.

Pgl
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Qis)

| a)Nucléus. The nucleus contains all the genetic information that will

be based on from parents to their young, from generationto
generations. Hence, the young plants will always develop into the

] samé colour of the flower as tl"ne parents plant.

@ @v%
cytoplasm (b)
a* @

c)The leaf. The leaf makes food the plant. This cell has chloroplasts -

-which contains chiorophyll, that traps light to make food for the

plant through photqsynthesis. Hence, this cell is most likely taken
from the leaf, allowing the leaf to make food for the plant through
photosynthesis.

Q16)

a)Part A is the anther. The anther contains and releases pollen
grains.

‘| b)Yes. Flower P has a stigma which would still be able to receive

pollen grains from a different flower, but of the same species. The
flower would be able to undergo pollination and thus, fertilisation
would occur. Hence, fruit P would be able to develop into a fruit.

| ©)The ovary wouid swell and develop into part B the fruit. The ovules
. | would develop into part C the seeds. ‘

d)Process Y. Process Y is fertilisation. The nucleus of the male
reproductive cell, fuses with the nucleus of the female reproduction
cell.

Q17)

a) A —- ovary
8 —- testes
b)R. The womb

- P2
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